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QUESTION 1

Which two statements are correct for data extensions? 

-

New attributes can be added to the existing table 

-

New transactions are created for the new attributes 

-Modified XML schema contains the definition of the new attributes 

-

A new business component is created for new attributes 

A. 

(1) and (2) 

B. 

(2) and (3) 

C. 

(1) and (4) 

D. 

(1) and (3) 

Correct Answer: D 

 

QUESTION 2

Which statements correctly describe the characteristics shared between MDM Classic Matching Engine and pME? 

-Searching and Matching areperformed by a single class. 

-Can use Data Stewardship UI to investigate the suspect parties 

-Both generate scores 

-Suspects are identified as A1, A2, B, and C 

-

Both generate indices to optimize matching party data 

A. 

P2090-025 PDF Dumps | P2090-025 Study Guide | P2090-025 Braindumps                                2 / 6

https://www.pass2lead.com/p2090-025.html
https://www.pass2lead.com/p2090-025.html
https://www.pass2lead.com/p2090-025.html


https://www.pass2lead.com/p2090-025.html
2023 Latest pass2lead P2090-025 PDF and VCE dumps Download

I. and II. and V. 

B. 

II. and III. 

C. 

I. and IV. 

D. 

II. and III. and IV. 

Correct Answer: B 

 

QUESTION 3

In the workbench, how can custom code be protected from getting overwritten during code regeneration? 

A. Include "@prevent_overwrite" tag to denote custom code 

B. There is a separate place in the model to put custom code to ensure it\\'s always retained. 

C. Include "@generated NOT" tag to denote custom code 

D. It can\\'t be protected. The only way to is keep additional changes in a separate area and merge as required 

Correct Answer: C 

 

QUESTION 4

Which generated package in data extension has the persistence layer? 

A. xxxx.component 

B. xxxx.constant 

C. xxxx.entityObject 

D. None of the above 

Correct Answer: C 

 

QUESTION 5

Location group contains common attributes of the following two entities: 

A. Address Group and Address 

B. Address and Contractor Party Role 

P2090-025 PDF Dumps | P2090-025 Study Guide | P2090-025 Braindumps                                3 / 6

https://www.pass2lead.com/p2090-025.html
https://www.pass2lead.com/p2090-025.html
https://www.pass2lead.com/p2090-025.html


https://www.pass2lead.com/p2090-025.html
2023 Latest pass2lead P2090-025 PDF and VCE dumps Download

C. Contact Method Group and Contact Method 

D. Address Group and Contact Method Group 

Correct Answer: D 

 

QUESTION 6

Data stewardship user interface uses the following protocol to communicate with Master Data Management (MDM)
Server: 

A. Web Services 

B. JMS 

C. RMI 

D. JAX-RPC 

Correct Answer: C 

 

QUESTION 7

Which two tables are used to store a Spec? 

-ContactDemographics 

-Spec 

-ProductVal 

-

SpecFmt 

A. 

(1) and (3) 

B. 

(2) and (4) 

C. 

(1) and (4) 

D. 

(2) and (3) 

Correct Answer: B 
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QUESTION 8

In the process of SDP using the pME algorithm, which is NOT part of the algorithm process? 

A. Organizes records that share common values for faster search retrieval 

B. Calculates weights and thresholds based on the data loaded in to MDM Server 

C. Converts data to simplest form for internal consumption by algorithm 

D. Compares pairs of records using a probabilistic method to calculate a score 

Correct Answer: B 

 

QUESTION 9

What configuration file(s) of the Application Toolkit contains the contextFactory properties, such as host name and port
number? 

A. Organization.orgmodel 

B. Log4j.properties 

C. Mdm.properties 

D. Mdm.properties and Log4j.properties 

Correct Answer: C 

 

QUESTION 10

Which statements are correct about pME? 

-An embedded, preconfigured and integrated version of matching engine used by Initiate MDS 

-Use probabilistic approach 

-Suspect search and matching is separately performed 

-

Generated indices will never change no matter what 

A. 

I. and II. 

B. 

II. and III. 
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C. 

I. and II. and IV. 

D. 

II. and IV. 

Correct Answer: A 
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